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Tommorow Never Knows
The Beatles

the other person who did this song was right is is completely in C but you have
to
throw a C11 in there to make it sound just right and accent the melody.

The Beatles
Tommorow Never Knows
(Lennon/McCartney)

D
Turn off your mind relax and float downstream
          D11 
It is not dying  It is not dying
    D
Lay down all thoughts, surrender to the void
      D11
It is shining  It is shining
     D
That you may see the meaning of within
      D11
It is being  It is being
     D
That love is all and love is everyone
      D11
It is knowing It is knowing
     D
That ignorance and haste may mourn the dead
      D11
It is believing  It is believing
    D
But listen to the colour of your dream
          D11
It is not living  It is not living
   D
Or play the game of existence to the end
       D11
Of the beginning Of the beginning  Of the beginning...

(piano and fade out)

define:

C (X35553) or (X32010) i like to use the barre form because its easier.
D11 (X33333)


